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x=2,-=1, Ans.

1 23 3 -13
H.M—B=2231-_102
2 46 -3 1 -3

=146 2|1 0 2

-1 53
=5 6 0 , Ans,

9. HET iy =yt
a TWE T (logarithm) TH T,
log y = log (x*in %)
= logy=sinx.logx

ST TE 1 WU ITTRET FA T,
Ldy _
y dx =cosx.logx+ sm_x ' x

dy [ sin .v:]
— =y|cosx.l + -
= dx y X.108 X "

=iy [cosx. log x + %l] Ans,

10. 7 fF y = (log )~
A TWE log T W,
log v = log (log x

= logy=cosx.log (log x)

2 TE x T WO IETAT B W,

)COS X

Ldy 11
Y dv =-sinx. log (log x) + cos x. logx x

dy SX

08 .
= (log x)°* [‘:lo'»gl; _s}n.r.log (log x)]‘ ARS.




11.

12.

14.

16.

sinx
7+ fF y = tan™! [ ]

1+4cos x

x=cos 0-cos 20, y=sin 0 - sin 20

dx — =—sin0+2sin20 = 25in20—sin®

do
3ﬁrl=cose—2c0529
dy dv/dd _ cos®—2cos20

dx d.t/dB 2sin20—sin@ ’ A0S
F( =x =32 +3x—100
frix) =32 —6x+3
=3(-\‘2—?_r+1)
=3 (x-1)
xeR f'(x)=+ve
. fEHEE EeT B
HAET logx=t

= —I-d.l =dt
X

=err=£+c=
2

(log x)*
2

I(l —X) Jxdx = J(l —x) xMdx

3

1 3
= J‘_‘.z d.l'—J‘.‘l'ztit'

n 512

/4

[= [Vi=sin2e dx
0

n/4
. v |
- I (cosx—sinx) dx

n/4
- j(cos X—sinx) dx

+C, Ans.

17.

18.

19.

/4 r/4
B I cos x dx — Jsinx dx
0 0

= [sin x];* +[cos x]"*

=(71§——0)+(7]—5-1J=J5—1. Ans.

n/3 =/3

J‘ j VJCOSx d.(
I= 1+J Jcosx +4/sinx e (1)
3-%)
=3 cos| ——x
2 d)
3 1= —[J [7: \/ n )
=/6 _|cos ~—,r)+ sm(——x)
2 2
nl3
Jsinx ___Vsinx

sinx ++/cosx - (11)

T, (:) + (u) FIT W,

/3 -
cosx +4/sinx

j NOREEN Y lai
COSx +~/SIn.x

/6

n/3

[38]
~
1l

21 = _[d"

T
I= E: Ans
dy 2 2
e A y Zixtey?
dx A

- §=(1+.r3)+_\-2(1+.r2)
dx

dy
= d—“—(l+\' )1+x7)

J' d" J(l+\ ) dx

3
X
y=x+ —3—"‘ C, Ans.

= tan”

T i GievT USAadty e |
a.(bxé)=

o

=

]

X

a1l

1]
o~

=i (6+a)—jx3+k (2a+3)

8 W .
o



24,

i (bx&)=0

= ([ +j+5) .7 (6+a)—] 3)+k (2a-+3)) =0
= G+a)-3+2a+3=0
= 6+3a=0

a=2, Ans.

fem G =27 -37 -5k 3l 5 =—7{+6]+8k

Tk
axb=|2 -3 -5
7 6 8
-3 5| |2 -5| .|2 -3
=1‘6 8'\—Jl—7 8‘“‘—7 6

=1 (=24+30)- j(16-35)+k(12-21) =6 +19] -9k
P(E)=06,P(F)=03, P(ENF)=02

, P(ENF)_02_2

P(EnF)_02_1
P(E) 06 3, Ans.

E = fafw= d=m waT art

F=3mT 421 ((1,3),(2,2),3,1)

30_5 3.1
PE)y=3=% PI=36"T15

n (EﬂF) = 2. l(]~ 3)- (3’ I)}
1

2
PENR=22=1g

1/18 _ 1
P (F/E) = 5/6 15 Ans.

o fF e e e @ " A R

1
P(A)=%=E=P @) g=1-
& uF o e e #omfgswar

(i) P (F/E) =

b | —
o | —

2 ] 27 2 1
( P+m +n =1= 3" =1 :>1=:t—ﬁ)

= drs=*1 1%l

(2, -1,2) 3 R Al apfer T @
x=2 _ y+1 _7=-2
k1 +1 +l

A (+, +, +) A

. x=2 v+l z=2
apfier T : =)l == Ans,
25. A 2x— 3y + 62 +21 =0T 9 fa5 (0,0, 0) F &7
Fr TS

_ 2x0-3x0+6x0+21 21

- = _=3 » Ans.
J22 +(=3)? +6 7
26. e A BT £ R — R, f(x) =x° = 3+ 2 FHT wfowfoa

AT B

A L) =f(F=3x+2)

=23+ 27 -3 (X =3x+2) +2
402 +4 -6 - 12x+ 42 =32 +9x-6+2
X' =67 + 102 - 3; Ans.

ll+mn'lL

3 12

2/5+1 |

tan” | ———— |+tan” —L
= 1-2/5%1/3 12

(11
AS + tan ™! L

13/ 9
s 12

Il

27. LHS

12 -
tan " —-+tan
5

tan™

Il

-
=
=

I
—
by e
|-

=tan~ ' (1)
=tan™! (tan 1/4)
=14 = RH.S. Proved

- — — -
28. 7@ a=(23,-5)=(2i+3j-5k)

-

s b=(222)= (2i+2j+2k)

lal =2 +3+(=57 =38

-
bl =v22+22+22 =12

- - — - - - - -
T oa.b = (2i+3j-5k).2i+2j+2k)
=2x2+3x2+(-5)x2
=4+6-10
=10-10=0

s a 3T p e W & el T A a 90°
%M\ns.



30.

(o
[

2%+ 3% = 3 (straight line)

= 2\'+2yﬂ=0.
dx

d\ 1

gl
€

’ .'\ll'l‘i.

M=-
v2

7

THH ©,

FA: y=-2

ey x—-y=6

= v=06+y=6+(-2)=4
x=%=2: .-\ns.
a=2,b=-lc=1

ﬂ2=l b1=1 C-, :2

aF faar SF e F FAM O B

2.1+(=1).1+1.2

cosB = —
V22 12 + 131 17 +22

= -cose 2-1+2
V66
= cose=§=l
. 6 2
0=—=30° Ans
1 0 2||x
02 1([4]=0
x=-5-1
T [ 12 0 3|1

U

[x-0-2 0-10-0 2x-5-3] [

X

= [x-2,-10, 2v-§) [‘l* =0
= [ -2v+(40) +2x-8] =0
= [ -2-40+2r-8] =

= x¥*-48=0

X=+ 4J§. Ans.

dx | dx
A, I = 3 T = _.,J-
a~+x a- .

AT, - dy = a dt
I Laj dt
a’ 1471

x|
41=0

1

U
I

ltan"(r)+C
a

I _I(XJ
—tan | = [+C .
e p . Proved.

=

X x
M. (@ x+y<d = x+y=4 = H+Z=l

4
X

(b) 3x + 8y < 24 = 3x+8y=24 = 8+§

X
() 10x+7y<35 = 10x+7v=35 = m

¥y
(0.5)

(04) B

(03) G}

OGHA =T IvF &7

=(0,0,G=(0,3).H= {”1 HS] 4—(
=00, ( 59 59 2
Now,z=5x+79; zatO0O=0

zatG=5x0+7x3=21

7 35 -
zatA =5x5+7><0 = ?—17.3
112 135 560 945 1505
ZatH=5x —+7IX—=—+—"=—""_ ¢
ah=5x73, 59 59 59 59 =255
Minimum of z = 17.5
dv  tan”! Yy, x dx X tan”'y
as = 2 7=t = )
dv 14y 1+y" dy ] ¥y 1+
’ y
= ej."nl\' = e’wd) — t,l.‘m_'_\'
2 iilxe e ~Xe™ Y o la"ql;‘ Xe
dy 14 v l+y-

-1, = =
d(xxe™ ) _tan Lyxetn™y

dy L+y*
fan-1 tan~! yxe Y
= |d(xxe™y) = e dy
14y
=1 tan”'y
-1y, tan yXe
+y°
P
tan _\' Uy ]
[ v=dr=xxe™ Y=rxe +¢
+\

= .\'l:m"_v=rxe' ﬂIIXe'¢!1+c=e'(r—l)+c

1



n/d
5 AT T = JInu(lHnn.\H\'

T, 1 = jln“ 1+ tan ———\)}d\

{
\m tan.x l
lm, 1+~ dx
l-r-lm—l'ln\
[

[+tanx+1—tanx ]| d

J. log
1 l+tanx J

ey w, "
n/d
2
- log (1+tan.x) +log ———— |d.
A= .[I:o ( m.) + log (I-Han\)] :
0
n/4
J. 1 (l-Hﬁn) 2
= og anyx),—————
- - (I+tanx
0
nid
log2 J'd = Tlog2
\ 4(1‘
0
!—TSI log 2
37 m—qm‘?rq—"@an =0T x=qae ¥ T g2
&9 BOB'QFPB® |
X
'* 4
N« > X
Y
v
ﬂ:
T #, 4% BOBQFPB F1 e = 2|y

38.

ire

2 ae
ZJ - dt— Zb[%\/(f —x* +."?q| "ﬁ]
a

4o
2

= 2b Y Ja* -a%e* + Lsin' L2 |- 0

a |\ 2 2 a
= be.a\f| _ o2 + absin”le
=ab [8\“—82 +sin_'e:|, Ans.
AT g @ ) W AT H OB g
Td WM F W OAT TR P T

a.b=a.c

ld@i.lblcosa=1allélcosP o (D)

JT: Gxb=axc

= lal.|blsino =1allzl sinB .. (i)

. (i) (i) F 9T 2w

ldl bl cos o
lal bl sinct

_lallblcosP
lallblsin B

= cotoe=cotf .. a=p

3 Tl (i) 7,
lal. bl cosa. =l I&l cos ot
Ha: b =c,

Ibl=1¢l proved.

aaQ



